Qe =26tk - A= ag

(BHEBZHEM B BB E)

— s ] T CABCH PN Co 2| FAST M A BAKN(F 4Tz 44):
i BDA BEA®&@%E » H DA EEI @IS (xz 8 ) %
ABC 1 0L & 4 + &Y r’{ ¥ e Mwgo0 K S

4% BD A BE fre =4ty o {l‘q )

C A E AR N (1045

5 —
BB RATT |JE A 22 ) B B R A Y -
EBonh | (Sehi 2 HREAENT ) SRS BHAR - SRR EE > BIP1-197HH 4% -
E
B 0. Al o, o)
B(O,q 5)
C(o./0,0)
D(-6,0,6)
E(b.0,6) _Y-?,A: (07,0 ) a:(0(0,0>
T = Toe —M__ B o
{ & eT \T%\“llngf%gg

e e L6
\(m S e - L < ¢
TR W

1-1



3/

@, -

k;/#xi "‘—V;X-f—:) o EX(“&{'-E) =5
A5k 5
(9] 7 o " 6 rl
= _ _6__ i
ﬁ"ea “TruLIee Tt (6 E‘sz i TfLE)
'F(PE +'ﬁ—,—2(ﬂb -84 =0 =)
B %&4%;):() — \3
B 0L &8
(e = To = (1 ch)(E)
" Ax *T?‘K” - (T("Xll =o
Ax=o
e
Ay !"(“"(?‘xl\-‘o
By = 14 (k) (=)
N ZFZ:'O

5Pz f—é%a\ +—,<,’—x\| ~ 84 =0

Qe =26tk - A= ag

. Ba= -3¢

A2 =36 (k) ()



Qe =26tk - A= ag

B 0] B S A
PEAABRGZRA - (54)
(451 BC~BD~CD & CE = 3y « (FRIEFHRAEA ) (25 5)

| 2.25m L 225m

S RERAT [FENTZR T - BINEAEL U RE A -

EBhanh | (oenE R BT ) SRS LA - SR - B1P2-181ERIAHE]

X

B0 Rtk - smpe0 D
G(1) ~4%235 — 4y 4520
éi/=g k(1) . Ay=glky (1) A=0.

Reg517 .

A‘{.’é,
3396 G
Nege
SKa

T ?B(':O. iB-:O

- Neg = 1389 (W9 ()

“‘ A\E& = 6.")'5 (kﬂl) ('Fi)
Mg = Az =0

N gq = He =65 (l"“)(:’:f)
1-3




Qe =26tk - A= ag

B; B DL 45T

he ZFK:O 15

<o Al (0923.96° + % Ay = 738 X(052374° =0 =il

Y h=0 A1
. Nlap sin 22967 + -%('—,qw + 738 SinaaLe _
LCH QY S8,

Neo= 965 (ky ()

Neo= =315 (ko Ako= 395 (ko)(12 )

t Bags
Pkay
N4
A 3@2&7&
AC
8k
Tr=o =0

= M= 031 (ko) (2§
A = 1,25 (k) (3T )

1-4

1—: 0 -—-—()-/



Qe =26tk - A= ag

@L@L§@$T

N, 305 (ke

R N
= - = 5,‘ TB\F
2§ ( . :

T ?‘}/—‘o @/ﬁlp( :%qb\(k,‘) ([_E)

=~ 454% ABC(E=7T0GPa ) AB# A BCHE=-H# 4 %4 20mm & 60 mm-
ol Z P e B4oP=4kN » H A Bk FH M A L - R
MR AH Q= Ko - (10 4
(OB zhz d= 15 ffg » (10 4

P=4kN

M =

ST

LR B Ay SRR B AR > AR T RS T )

Z Rt

1 (B= R 2 E R AR AT - B ) SRS > T RdwE - BlRE2.1.9 -
2. (SEEEMEIERHE) o BTG-S - flE2.18

-

1-5




Qe =26tk - A= ag

(—)E%AHN Q2R

13 EXARNEESBTHRAMWA)
KABGTUE—HE(R2BBE)TH AB&& )

= 3 AB {28 /1S5 =P > P
# BEb# 12— B @43 BC Bdbd AD “'ﬁ

— 2 4BCE A Szc =P —Q Sre %L%

2 E A B REE RTm

Saplag
AgE

Sgclec
ApcE

F AB B E04p =

7 HBCE 1 52 Bpe =

3 EAEA AQA

HEHOUMFAREIMSEAT (ARG HIFHE—BEBA=(FTEHZH
R A (@& AL EARATHEHILR ZF4 L EPREAME) EAFRAT
FFRA=(FHEH)IS !
ASET A, = (RECEA: =0)+0gct0ap=0

A (4x10° — Q)(0.5%10°) (4%10°)(0.4x10%) .
A T T 5 T 3 =
(}r «60%)(70%10%) (} «20)(70%10%)

— 7T 42Q = 32800N = 32.8 kN
(=)+ EBEsFE A #

(4%10° — 32 .8%10°)(0.5%10%)
T 3 =—0.073 mm ()
(7%607)(70%10%) g

Ag=dgc =

W FEwEE TR B T=15kN-m« 3k :
OMEAARCZREA - (54)
OF=HHBASER - (B LARE SBT3 /4 - Fa8) (20 5)

1-6



Qe =26tk - A= ag

Ly

S RERTAT R AR E R E T DR FEORE T EES |

z8 e 1 (B AR R E R AT E) - SRCbtik > B RdwE - flE2.4 -

2. (SEEEMEIEHE) o BIUHGRE - 8k - f1H23.3 -

fa:
()8 X RABECEHA AN
HCEHRAENMAETFALELZR AR, -
S =0 = Ry = (60><6)—(40><4)—'r(405><2.5)-'-(15)— (60x1) _115KN (1)
HEE TG HPRECHBRARE
ZFy=0=>RC=601—40—40+60—RA=85kN(T)
(D) 2N T HNEAEER
ABRZHHEREERLT -
60N 4ofw 4otV . g0 BN
A 1l JeewC ¢
1 &3
Ra T\Q
Im Im WI-IMII\KMD Im“ [mu
S 60
V) [+l = o [+ ]
l; -2
60
Ik
MEBN-m) 0 e + o
- % B =

1-7




